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SetId : 53686_125

12-June-2019 Batch4 D.ELEd Odia

Section 1 - Paperl-English Language

1) Find the most appropriate opposite meaning word:

FLAGITIOUS

A)
B) Vi
C) Ignorant
D) Innocent

2) Find the most appropriate opposite meaning word:

COMMON

A) Rare

B) Recurrent
C) Mundane
D) Habitual

3) Select the correct option.
Maria is my favourite teacher.

A) a

B) no artlcle
C)a

D) the

Read the following passage and answer the questions
that follow:

Mustard is a condiment made from the seeds of a mustard
plant. The whole, ground, cracked, or bruised mustard
seeds are mixed with water, vinegar, lemon juice, wine, or
other liquids, salt, and often other flavorings and spices,
to create a paste or sauce ranging in color from bright
yellow to dark brown. The taste of mustard ranges from
sweet to spicy. The mustard plant ingredient itself has a
sharp, hot, pungent flavor. The many varieties of prepared
mustards have a wide range of strengths and flavors,
depending on the variety of mustard seed and the
preparation method. The basic taste and "heat" of the
mustard are determined largely by seed type, preparation,
and ingredients.Commonly paired with meats and
cheeses, mustard is also added to sandwiches,
hamburgers, corn dogs, and hot dogs. It is also used as
an ingredient in many dressings, glazes, sauces, soups,
and marinades. As a cream or as individual seeds,
mustard is used as a condiment in the cuisine of India and
Bangladesh, the Mediterranean, northern and
southeastern Europe, Asia, the Americas, and Africa,
making it one of the most popular and widely used spices
and condiments in the world. Mustard is most often used

Frwolous TeCh OfWO rld I n

at the table as a condiment on cold meats. It is alsoc used
as an ingredient in mayonnaise, vinaigrette, marinades,
and barbecue sauce. It is also a popular accompaniment
to hot dogs, pretzels, and bratwurst. In the Netherlands
and northemn Belgium, it is commonly used to make
mustard soup, which includes mustard, cream, parsley,
garlic, and pieces of salted bacon. Mustard as an
emulsifier can stabilize a mixture of two or more
immiscible liquids, such as oil and water. Added to
Hollandaise sauce, mustard can inhibit curdling. The
amounts of various nutrients in mustard seed are to be
found in the USDA National Nutrient Database. As a
condiment, mustard averages about 5 kcal per teaspoon.
Some of the many vitamins and nutrients found in mustard
seeds are selenium and omega 3 fatty acid.

4) The colour of Mustard paste or sauce ranges from

A) blackish brown to mustard yellow
B) bright yellow to dark brown
C) light yellow to light brown

D) mustard yellow to light brown

5) Which of thefollowing minerals is found in Mustard?

A) Selenium
B) lodine

C) Fluoride
D) Potassium

6) Mustard is most often used at the table as a condiment
on

A) mayonnaise

B) soups

C) cold meats
)

" Techofworld.In

7) Mustard as an emulsifier can stabilize which of the
following?

A) Emulsifies oil

B) Curdles Hollandaise sauce
C) Imparts pungent flavour
D) Stabilizes oil and water

Pagelof22
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8) Mustard is commonly used to make mustard soup in?

A) Africa

B) Mediterranean

C) Northern Belgium

D) Southeastern Europe

9) Select the correct form of verb from the given options.

I to the cinema tomorrow also, | have a lot
of work to finish.

A) am not going

B) am going

C) will not be going
D) will go

10) Select the correct plural form from the given options.
There are four on the desk.

A) Apples
B) Book
C) Onion
D) Banana
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Section 2 - Paperl-Education and General Awareness

TechoﬂNondI

11) The report of committee under the chairmanship of
Janardan Reddy in 1992, provided a base for emergence
of which of the following programmes?

A) National System of Education

B) Minimum Education Programme
C) Revised Programme of Action

D) Programme for Science Education

11) 1992 6@ GRINe 6a8lw 2UNGIEA & gl G AT
FAAIQ 694 6JIRFI AYEIRI IR IR 2RIA 6TITIR CARYRI?

A) HIAQIR TAA 2T IgERAR
B) fidae ugeads 6419

C) GeIpQe 699 2T 2Iga
D) 6gigia Q ARG 9g60dQ

12) The conversion of milk into curd/yoghurt is due to the
chemical reaction of the milk protein with

A) Citric acid

B) Acetic acid

C) Lactic acid

D) Tartaric acid

12) V1064 831 6015 AL FILIR AALES JEG 6aI9 V1098
QGRS 62IR2I?

A) aece g,
B) <@g ag
C) auge 2ig)

D) qiciaie 215,

13) Which one of the following states has no Legislative
Council?

A) Maharashtra
B) Haryana

C) Uttar Pradesh
D) Bihar

13) BRI 629 QIFYa GIe a0EQ FIE?

A) agI01g

B) eGaial

C) e geadl
D) Gaiq

14) Which of the following committees recommended for
the appointment of AICTE ie. All India Council for
Technical Education?

A) Secondary Education Commission
B) The Sargent Report

C) Pires Committee

D) Janardan Reddy Committee

14) GAAQ 626 AfF (2IRdcR (QITI@ - 2R Q82 FIREAM
TR 651N 1geada) 593 AR 9UIR aRgew?

A) 626Q9IR1 UgEade HFae
B) Qi Geale

C) Gud &5i&

D) gqite 6081 @86

15) University Grants Commission provides grants to
establish a new University in India for a period of

A) 7 years
B) 5 years
C) 10 years
D) 2 years

15) 9040 glea «fiae e u gFeddq cwee od AR
2GR JOIR 9692

A) 7 qd
B) 5 od
C) 10 qd
D) 2 g
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Section 3 - Paperl-Reasoning
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16) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il.

4 if the question can't be answered at all.
At what time did the train leave the platform yesterday ?
I. The train is regularly late on Sundays.

Il. The scheduled arrival is at 10 : 20 am.

>

208>
AW =2N

16) F6L9IeR T FIRYS gg6a
1596 90g 94 699f 124 | QAITINYEA 946 980 G2IKIRQIQ8
[

2 989 99g, 99 69 (181Y || ALERITER g9 A8 F2IIR
I |

3, 08 Qe | ¥e° || AL6LINER 949 28 QKR AIQE |
4, 9% 990 989 669 § GALIR AR QT |

JeRR 609 ANNER 698 IETAQ sEeRI ?

A2QY |: A9 QG919 8F 657 YR 2l |

a2Qy Il 10 : 20 amea 657 ALEQIR 2R |

A) 2

B) 1

C)3
D) 4

17) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some cups are saucers.

All the saucers are artifacts.
Conclusions:

1) All the artifacts are saucers.

Il) Some cups are artifacts.

A) Only | follows

B) None of the conclusions follow
C) Only Il follows

D) Both I and Il follows

17) F6241QQ1: G6R GUAIR2YR 1IN 8Q 78 Fad QAIALE |
218 GRS F21g ey 691 (IRl 969 908 @ gl
ARIREER KGRI SHOIQ &R 6RHIIREN | ANS Fadg aeg
48" QI06Q F9@ Fug, FUAIRYSI F9d AuQ 6RAG ARINIER
RE1EQ F24R ARANFF KRS 718947 OF QIS 2QAE Q9@ |
O12QY: A8 90 9E@ 6208 99 | A5 AAQ FER AFTYIRY |
fad:

) A9 AFTIRA 90 A |

II) 78 @9 gee aITTie

A) 6295 | 1gA08 R0

B) 6ql6d @ Gadq 2906 @ag QI
C) 6aaq Il 29904 @09

D) @@a | 9e° Il 29204 903

Tf\f\lf\f\'F\AlnFII‘l II"\
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18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:

Some profits are losses.
Some losses are shares.
Some shares are prices.

Conclusions:

I) Some profits are shares.
Il) Some losses are prices.
IIl) Some prices are shares.
V) Some prices are losses.

A) Only | follows

B) Only IV follows
C) Only lll follows
D) Only Il follows

18) F6RIRRT 069 QAIKAL (124 Jag @8 5 FUKILE |
2I8g QULIRIAL F12G A4 6Q1R AIFAIG 9GQ LGE & «al
ARIIFEIER KR GEOIP &R 6aHIIRAN | A0S Fadg aeg
48" 01060 3G Fg, FuIKIRYQl Fad AIQ 6R6EI ARIRIER
R4€18/91 G249 AQAFR 2geIel A2y 0 QIER 2908 @98 |
F2QY. @8 AIR 6208 BC | 8 9T 6208 e | 8 2eeuR
6208 J@ql |

aad:

) @8 MR 62RF 2R

1) @8 95 6208 oI

) @8 o= 62a8 2GR |

IV) 88 921 6998 96 |

A) 6297 | 29908 /0G|
B) 6aaq IV agaad @69 |
C) 6aaq Il 23908 @9 |
D) saaw Il 2G99 @ag |

19) If in a certain code language, FOLLOW is written as
HMNJQU, then how SECTOR will be written in the same
code language?

A) QCARMP
B) UGEVQT
C) UCERQP
D) QGAVMT

19) 9@ Q4] 6w QITlea, FOLLOW g HMNJQU wise
EAHIAINE | Gl6asn SECTOR g 648 Q1R d6waa @K1
DOF eMYea?

A) QCARMP
B) UGEVQT
C) UCERQP
D) QGAVMT

20) Nolan is one among the group of participants in a
running race, who is the 8th fastest and 9th slowest. If all
the participants run with different speeds, then the total
number of participants in the race is

A) 17
B) 14
C) 16
D) 15

20) 65IMIF 628 67% JOFUINIPIER QIS 6RREIRI Il
AUQ V6, TG GOTTI6Q AR IQ° UIQRAER 9971 | 97 AN
QTEAGN 6% JT6R 6TE6R, PIEIEM AR 671G I
Gl 699

A) 17
B) 14
C) 16
D) 15

Techofwor
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21) Effective learning, good teacher-pupil relationships,

and peer collabaration can be obtained in a

A) Experienced management system
B) Controlling classroom environment
C) Experienced teaching system

D) Controlled classroom environment

21) gRIGRIAT 2UNE, BN FJR-G8Y AU, NS° ALR( T AL6IS
2 F1IQ 604 26 fFelg ?

A) 29091 ARBIRGT Q4B

B) Gaae 6eeeel 6g41ge QI0Iead16a
C) 2gue1 RIQIe Q4R

D) Gade 6841192 QISINQEER

22) Cognitive Learning Theory implies that the different
processes concerning learning can be explained by
analyzing first

A) the mental process

B) the social process

C) the emotional process
D) the behavioural process

22) RIFIIR d96 TS Q1 9Q IPINAN 64 FVEG 650 TR
Jd@eig g2er @8 J6986 @8 96l IIRURe ?

A) ciede ggel
B) ainuge g@s
C) aige aFel

D) qyez@ 9@l

23) When young children are made to play with mud, it
gives an exercise to their

A) visual senses

B) olfactory senses
C) auditory senses
D) kinesthetic senses

23) 60696967 Q¢ JAIKIEE QIGCH 63193, 12 FIFQ 69Q
gRIa 24D QA ?

A) gan ages
B) g€ ages
C) gag aged
D) gieaidie aged

24) Read the following statements and choose the
CORRECT option.

(i) In Independent India, The statutory All India Council
for Technical Education was established on May 17,
1968 with a view to proper planning and coordinated
development of technical education system throughout
the country.

(i) The purview of AICTE (the Council) covers
programmes of technical education including training and
research in Engineering, Technology, Architecture, Town
Planning, Management, Pharmacy, Applied Arts and
Crafts, Hotel Management and Catering Technology etc.
at different levels.

A) (i) is TRUE and (ii) is FALSE
B) (i) is TRUE and (ii) is TRUE
C) (i) is FALSE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

24) QeaIB QIR 9oq 998 99° O 899 098 @0g!

(i) GRING NUABER IR 6F6R 6TVTT FFI MR AUYD
GAIRTI 9G° AFIGE FRK G768 6TUHS J91 IR 6RIGE
ARSI UEEL 1968, 661 17 9Ia86x AITE 621agm |

(i) 21333 (AICTE) (0099) 989a Ai6a faa adiaea
RBTOR°6R BME ¥e° A6Iad, 6FATR dSl, QIaBY,
A2RCAIRG, ABIRG!, TIFIE, 21GNG 2IG 21 I, 62N
FHIERRETIE 2118 MICTRE! 6TERIENIT SIS AR |

A) ()0 ge° (i) is gm
B ox
C an

D

) ( )
) ()3 9<° (ii)
) (Hem g (i)
) (@R 9<° (i)

o
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25) Which of the following options is FALSE with

reference to the main features of the Right to Education
Act (2009)?

A) It makes provisions for a non-admitted child to be
admitted to an age appropriate class

B) It provides for appointment of appropriately trained
teachers, i.e. teachers with the requisite entry and
academic qualifications

C) It provides for free vocational training in order to
retain the children in schools until they complete
elementary education

D) It provides for the right of children to free and
compulsory education till completion of elementary
education in a neighbourhood school

25) Q67119 GRaQEe AUQ 6@60 JTIR 2R/RIQ 2IRe (2009)
989 gm?

A) 921 QIF EANIRRYSI SgFing 0 AN AAYS 69416Q
FIF1 EAFIARIR QUL PER

B) 42l @999 QI96Q SIRAgIg S99 60AGR IRaua 9694
9Q° QGG 6AIGHe QiR Jaes G gaIe adarg

C) el dgrier grifie da Agd @del adie dRNIeE QS|
IR FIGE SRS GIRF AURE SRR

D) wel 9@ §966n Jdaueasa gldie da agd caql adis
ARG A 9° QRIGKISR F8I QUNS @ard

26) When the teacher finds that a student is always
scratching his ear and has to force himself ahead in order

to listen to the teacher it could be that the child is suffering
from

A) Hearing difficulty

B) Visual disability

C) Emaotional problem

D) Psychological problem

26) 606066 SR 6Q6E 60 ¥68 8Ig AT HFa AR SIS
9@ S9eg 4891 AR 019 599 SRkl 9891 0g 8 6069 dnEa
6@% A4 FF ?

A) gaicica agaull
B) cagqica agaul
C) zicadia anaul
D) quada aaayl

Join Us-
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27) K-W-L is an instructional three-part strategy to

encourage active reading. Which of the following options
is NOT the part of the KWL chart?

A) 'K' refers to "What | know"

B) 'W' refers to "What | want to know"

C) 'L' refers to "What | learned"

D) 'L' refers to "Which level have | reached"

27) Q@9 9089 QQEe Q6Ql JIR 6@-89- MR IRl a1
QIFG 263 | HF] TRT AR 690G 628 IR FIFR 2°8 968 ?

A) 6@ - "q] @6 9198'q GO
B) 64 'q @8 Q18QIq 9164"q 4914
C) \m- "¢ @€ SgR'g oI
D) u@-"¢] 604 2aq 92°0R'q 9OI

28) The teaching practice of tailoring instruction to meet
individual student needs is known as

A) Flipped Classroom Model

B) Kinesthetic Learning Model

C) Differentiated Instruction Method
D) Inquiry-Based Learning Method

28) IRI91 21 LGRS § Yol K891 IR AAYS FELSISRT
Q 9eIRs! 2RuId QO6Q SEIAIREIN |

A) G99 K96 T8GR

B) Gcaascade dal q66R
C) Geaae Geud G

D) aoqiaed 2rIe Jal

29) Which of the following organisations was established
in the year 1925 to promote university activities in the field
of education, culture, sports and allied areas and is also
known as the Association of Indian Universities?

A) University of Delhi

B) Council for Teacher Education
C) The Inter-University Board

D) Higher Education Commission



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

29) 1925 g6 G981, G, Qg1 98° ARG 696Q 4
AMIRAQ FINRRAY 69IATC 2R AR F6YIB ARIQ 626
29919 AR FAUAIRYN 9S° 9Ll AARIAR AT &R
QRdTR QINEA 713l FEIGEI?

A) OR1 99 TN IR T h f

B) dg@ g 959 eC O W
C) 2198-39aMNIRQ 6916

D) ag 91 @59a

30) In which of the following methods, specially designed
software applications are used to learn a subject?

A) Mechanical Learning

B) Computer Aided Learning
C) Design Learning

D) Software Focused Learning

30) QFIUQ 60Q URF6R, IS TG YR AN 6T W6
GRS 621209 AFBAR AIGERARFLR MALIQ FAIAN?

A) 6RIRRIN ARG

B) @4i0Q 166Q A5

C) el ader

D) agsaie 6TIaqe ade
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31) 6a14Q Q°HYI QIOR FEAVE AL FAIFAER A A°HYI @ QIR
@ Ghe HIQ QUIRER SI2Ig @ F6aSd QRIAN ?

36) "IaY' @ FUQIE €9 JoIl?

) 2eaaa!
A) aG9I8 QISR B) qérel
B) gaciae C) zsaay
C) Qg Qee D) astay
D) gadl cloa

37) ' 6RIQQI ' - 9T &89 QAR FgRal @462 ?
32) ‘AFYR AT— QEo A @€ ?

A) opg el
A) ediq E1gQ! B) aaq eadal
B) wasig ae1a C) sRimeesl
C) erje Qo

D) 21eg4 @Gl
D) fgel

38) QU8 QQAINTER AIFI — 90I6R 69% 63 62IRE ?
33) FORgE a0 AU SR 995 526 @ |

A) egell
A) 9] B) agen
B) 6a? C) agen
C) saa D) ga
D) 9

39) GIRYE FRIQ 6095 ‘@ AUAGQ 00 R ?
34) a8 AUQ 6946 ‘FATQ AP 69 ?

A) Gae
A eee B) Saia
B) gaee C) Gemg
C) odat D) 8aig
D) aea

35) GORYe AIQ 69 61! 90 99dea §aaie ? 40) '61q 619 990 699 IR G 6K ?

A) ZlsRia-age

A) aaieele
B) @18-q@1@ B) yxuiae
C) so1g-6Qia C) dacierla
D) egig-eaig D) g8
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41) ‘6RAIQ OF SIS — QAT 22 @8l ?

A) 26 el

o= Techofworlc

D) qQ 61

42) ' (29910) B ' X' (99 @Q) @ @ 9d gelIan ?

A

B) zeais

) @
)

C) aGausy
)

D) zieq

43) FARGO 60Q §I8 ‘A’ QUG 641661 S0 ?
A) 2IQuIQE

B) ziesa

C) aeead
D) zages

44) 9Q Q61 'Sl Q R W9 IR A6 €629 ?

A) Grl

B) aga
C) saie
D) sqiiy&@

45) GRS IR 626 6QIG IANA FAQIG L GG ?
A) RIG-21R10
B) @96-99%

C) 6Q191-G6QIS
D) Qie-0&
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Section 6 - Paperll-Mathematics

48) Anil bought two varieties of powders, costing Rs. 5 per
kg and Rs. 6 per kg each, and mixed them in some ratio.
Then he sold the mixture at Rs. 7 per kg, making a profit

of 20 percent. What was the ratio of the mixture?

s Techofworld.In
D)3:5

46) 27N 99 99199 JIReR @anl 68§ T8I Rs. 5 9e° Rs. 6

QQEQ S° 699Pq 6@ 2ISER Fgd aml 49° YaIgsa 698
fgeq 6aF gl Rs. 76q @7 @8 20 g&de e diomll &

figaQ agaie @6 gq?

o o0 m >r

)1:5
)2:5
)5:2
)i a:i5

47) If by selling 33 mangoes, one gains the selling price
of 11 mangoes, then the gain percent is

A) 30%
B) 20%
C) 10%
D) 50%

47) 9T 33G 2Ig 9F Qe 9IQl 966 116 aIa 9§ Ry ar,
6069 IR JOII6 6908

A) 30%
B) 20%
C) 10%
D) 50%

48) The vertices of a triangle are A (-2, 3), B (2, 1) and
C(1, 2). The centroid of the triangle ABC is

48) 99 09 Q 6a18 9o A (-2, 3), B (2, 1) 6 C(1, 2) &&3
G99 ABC @ 6959 263 |

A) (2.3)
B) (1/3,2)
©) 1.2)
D) (2/3,2)

49) The profit earned by A is 30% more than that eamed
by B. The profits earned by C is 60% more than that
earned by B. Approximately what percent is the profit
earned by C more than that earned by A?

A) 32%
B) 31%
C) 25%
D) 23%

49) A 9IRS AR VRS B QIR IR @RRI6Q 30% 24|
C 91R8Ql RIeQ A8AI B AIneel AR RRI6a 60% 2RI AQ
AR ERFIEA CA AR QLI 6R6Q IGIS 2R?

A) 32%
B) 31%
C) 25%
D) 23%

50) If two sets are equal then

A) they will have the same number of elements
B) they will have different elements
C) they will have the same elements

D) one set will have less number of elements than the
other set

50) 99 QR6 646 AR 6969

A) 62gE9a QIR IR AR AER

B) caq@as @QIQIe 2Rg anel Q@9

C) 6aq@aa Q1918 A7Ie F9

D) 69115\ 699Q QARG QY| 2AGY 645 OIR &F1 629
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51) Which among the given relations describe the
idempotent law of set theory?

A) AUB=C and BUC=A
B) AUA = Aand ANA = A
C) AUA ={}and AUA = A
D) A'UA=A and AUB=A

51) GIFRIQ 67Q AR 629 2JBAIR REEEHISTS Farg edal
@PQR?

A) AUB=C 8 BUC=A
B) AUA=AGANA=A
C) AUA={}B AUA=A
D) A'UA=A 6 AUB=A

52) What is the approximate volume of a cylinder whose
radius of the base is 2 cms and height is 7 cms?

A) 67.92 cm?
B) 87.92 cm?
C) 98.92 cm?®
D) 78.92 cm?

52) 9@ ANGQ Q AGAIRG AR 6@6E 629, UITIQ 2RI A
arddh QUa 2 697 B @61 7 638 2169 ?

A) 67.92 6Q&?
B) §7.92 eaf®
C) 98.92 6afi®
D) 78.92 eadi®

53) Eight bells commence tolling together and toll at
intervalsof 2, 3, 4, 5, 6, 8, 10 and 12 seconds respectively.
In 30 minutes, how many times do they toll together?

A) 15
B) 16
C) 17
D) 12

Techofworld In

53) 2106 Q& IRIAIFER QU6 9L° KalIges 2, 3, 4, 5, 6, 8, 10
9G° 12 69604 QUQRIIGER QiFelNI 30 fRgea 6agEe @10
£R602Q QIFQ?

A) 15
B) 16
C)17
D) 12

54)

|

75+ |25+

|/108+J154 + f219 +V36 =

\ N

A) 5
B) 3
C)9
D) 10

54)

|

75+ (25 + |lma+]154+ f219+~.f%=

\ N
A)5
B) 3
C)a
D) 10

55) The equation v*= 13v? = 48=0, can be factorized as

A) (vi+ 18)(v2 - 4)

B) (v + 3)(v+4)(v—4)
C) (v2-3)(v-4)(v-4)
D) (v*+ 3)(v2 + 4)
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55) QA1@ad V- 13v2 - 48=0, GFUQ 69Q RIEY YGRS
62IRCIGe?

A) (vi+ 16)(v2 - 4)

B) (v@+ 3)(v+4)(v—4)
C) (V- 3)(v-4)(v-4)
D) (v¥+ 3)(v2 + 4)

56) If the perimeters of two squares are "X units and 'y’
units respectively, then the value of the product of the
areas of the squares in respect to same units is given by

A) x2y2/4
B) (xy)%/16
C) (xy)?

D) xy/4

56) G 9% Q4 6AGR URNG QRIFET X' IRR ¥e° 'y 9Re
6369 (@ QUI6RGR 688TRR JITR 64T 1aR AQUIN 629

A) x2y?/4
B) (xy)%/16
C) (xy)?
D) xy/4

57)Ifa=3,b=-5 x=6,y=12,z=-8, then a® + 24y -
3b is equal to

A) 34

B) 333
C) 330
D) 320

57) @@ a=3,b=-5x=6,y =12, z=-8,606@ a* + 24y -
3b aAIR

A) 345

) 333
C) 330
D) 320

B

58) Area of a circular park whose diameter measures 77
cmis

A) 4878.5 cm?
B) 5607.5 cm?
C) 4212.5 cm?
D) 4658.5 cm?

58) 77 6271 Q4Id G818 1@ QAR JIGQ 6RRTR 626!

A) 48785 @6l 6QF
B) 5607.5 a4l 6Qd
C) 42125 Q4 697
D) 46585 @4l 647

x W

59)1f 7 = 2 then (2x+7) : (2y+9) =

>

O o
= = =
~N © © =

-

—_

=)

0 ]

, GI62EM (2x+7) : (2y+9) =

60) Which of the following numbers has the highest
number of positive divisors?
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60) §¢) Q°s| Cl1aQ @910 Q@Id_@ AR 6K VAR 2ASS?
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Section 7 - Paperll-Social Science

61) What is the value of the latitude at the equator?

62) 6266 G91 6R1€6Q F1ER 608 SIS 6adIg 689 aGalN ?

A) 90 @9
B) 0 &g
C) 225 &an
D) 665 Ggt

63) Who among the following was known as the 'Father of
Local Self Government' in India?

A) Jawaharlal Nehru
B) Lord Michael
C) Mahatma Gandhi
D) Lord Rippon

Techofworld.In
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63) GeRIRFies AUl @4 ALK U° GIRR SAT VINER
PQIGEN?

A) FRIRaRIN 69694

)
B) a¢ Alacen
C) a2iq qust

)

D) a% dae

64) Who among the following kings was known for his
hasty temperement and impatient behaviour?

A) Nasiruddin Shah

B) Mohammad -bin-Tughlag
C) Ghiyas-Ud-din Tughlag
D) Firuz Shah Tughlag

64) G678 QIRIFIGE CIQ § HFA CEF IAIS 9 AP LRI
IR FEIGEI?

A) adalq aIe

B) ceae -9q-6010ns
C) dag-a9-Ge-6010ae
D) &IQuq 912 6019

65) Which of the following British officers was associated
with the concept of 'Safety Valve' for British Raj?

A) Lord Comwallis
B) Lord Curzon
)
)

C) Saunders Alexius Abbott
D) A.O. Hume

65) FARYC AR FITIQ IGEAA § §5¢ QIFQ TN LAT QIRS)
QAIRIYRI?

A) ¢ aoamq

B) a¢ aeQ

C) gred 2engdned 21ee
D) 4. 6. 2k¢a
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66) In the history of India, which among the following
animals was declared extinct in the year 19527

A) Gangetic Dolphin
B) Desert Fox

C) Asiatic Cheetah
D) Nicobar Pigeon

66) QIAGS AF2IAER, 1952 FTLIER FORAYS FUQ 6R4 TG
GRY 691 6219 FAULRRI?

A) Q6T ERNTQ
B) ag qoie

C) wdga oo

D) Gemiia Qigl

67) Constitution of India provides for reservation of seats

in Panchayats for scheduled castes and scheduled tribes
through

A) Article 253 T
B) Article 243 D
C) Article 330 A
D) Article 332 C

67) QIOG1D QAR TBIAG GERea 299Ee QI 19 aaeIG
62 QIR QTS MR 6Q QLIS AR

A) 98n G

)

B) 9xn &
C) mqeo 9
D) a9 g

68) Who among the following was the chairman of a sub-
committee on Fundamental Rights?

A) Rajendra Prasad
B) Pandit Nehru

C) B.R. Ambedkar
D) J.B. Kripalani

Techofworld.In

B8) FONYS AIQ @Y 6AlRe FYRIQ R QTR &Rl 9
QULAT @ 2B Zem?

A) QIess 9aIQ
B) odie 6x6ag
C) Gae. 216990
D) 65.8. guiRa

69) Who among the following viceroys declared India had

joined the Second World War in 1939 without consulting
the Congress?

A) John Simon

B) Strafford Cripps
C) Celement Atlee
D) Lord Linlithgow

69) F6lI FRIQ 6L AAAI F°6IR TS @ 67@ € CNCER
QAP Fo1K SYYREQ 621G 6OMI 6QIM ELITEI FRLYEM?

A) @9 AR

B) aicrie 59

C) gea 2R
)

D) e Agassal

70) Which of the following is an imaginary boundary
between the Earth's atmosphere and the outer space?

A) Exosphere
B) Coreman
C) Karman line
D) Mesosphere

70) 36918 AUQ 6766 QEAIA QIFALR Ie° QIRY AIRIE FRIER
4Q QIEFe QA7

A) gl
B) exloaie
C) QaaIe aIeg
D) 6i6midea
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71) Who among the following was the founder of Pala
Dynasty?

A) Devpala

B) Narayanpala
C) Gopala

D) Dharmpala

71) G69lI8 Al FUQ @4 AR AR 9OIIS! g6m?

A) 62941
B) claiagaie
C) cqiaim

D) aidiaig

72) In which of the following layers of the atmosphere
does most of the weather phenomena occur?

A) Thermosphere
B) Troposphere
C) Exosphere

D) lonosphere

72) QIINE9RR 699 IR AR FRAIY UARER CRYIF
fidelrg ?

A) aedida

B) gsadoq

C) wegkon

D) 21g691@a

73) Which of the following countries launched first ever
Artificial Satellite to space?

A) United States of America
B) United Kingdom

C) Republic of China

D) Soviet Union
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73) GORYS FQ 674 694 B0 60 QA 2R GEN AAYS AL
Qegem

A) GRINEST 686 AT 2R
B) 9oI065% S6req

C) Gage 2 QIaq!

D) saiGae ghaq

74) A type of land degradation in which a relatively dry
land region becomes increasingly arid, typically losing its
bodies of water as well as vegetation and wildlife is called

A) Desertification
B) Eutrophication
C) Acidification
D) Qasification

74) 4@ QRIGQ 18RI 21RTG , 69426a 21608 g8 §F 2598
49 6oIRAN , GeaE QT SReE d3 8 oA
QAIFE BFSI 92l YEYFF ENIT AR , V19 RS GRIGN ?

A) (ead
B) gegideaaq
C) algpead
D) sa1@d6aaq

75) Who among the following advocated the Gram
Swaraj?

A) Pandit Nehru

B) Rajendra Prasad
C) Dr. B.R. Ambedkar
D) Mahatma Gandhi

75) G6CIRAIRGE CRIQ &4 gl 9QIRIR AFUR?

A) 0o 6029

B) qieaq Qi@

C) ¢. 3219, 2Iegaaa
D) agisl s
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Section 8 - Paperll-Science

76) A particle starts from rest and has an acceleration of
2 ms? for 10 s. After that, it travels for 30 seconds with
constant speed and then undergoes a retardation of 4 ms
2 and comes back to rest. The total distance covered by
the particle is

A) 700 m
B) 750 m
C) 800 m
D) 650 m

76) 6916+ @dial FAISRIQ 9F FGRI 2R FARI 6 10 s AR 2
ms? @ Qad gl | 92l 96, ¥el 30 s AR FRea 69668 SRl
@ 4 ms? ARR6Q 9% KRl | 9e° Rt daeel § 608 2GR |
622 Q8R! 6Q69 9AG AT KAMI?

A) 700 m
B) 750 m
C)800m
D) 650 m

77) Consider an ambulance van moving along a straight
harizontal road with a speed of 72 km/h. If the coefficient
of static friction between road and tyres is 0.5, the shortest
distance in which the ambulance van can be stopped is (
Given, g = 10 m/s?)

A) 30m
B) 40m
C)20m
D)72m

77) 4@ ARG QI IS ARY AAIRAR QS 72 &F./a8
69064 9E @981 97 QIgl 98° ClAA AUea da A%de galie

0.5, 6969 2KRIF NIF 2SR AIBQIR ARG 990! 6298 (94, g
=10 m/s*)

A)30m
B) 40 m
C)20m
D)72m

78) When ferrous sulphate crystals are heated strongly
they decompose to form which of the following
oxides/acids?

A) Hydrochloric acid
B) Ferrous oxide

C) Sulphuric acid

D) Ferric oxide

78) 60606967 670 ANCTE ITRYEFR ZGH@ TIRF QAU
2l 20956 621Q @4 g2

A) QIR ERIaS 27,
B) soroa agine
C) angiae aq,
D) saréie agiee

79) Which among the following macromolecules or
organelles is absent in Prokaryotes?

A) Golgi Body
B) Vesicles
C) DNA

D) Vacuoles

79) 691918694 68 FYFIQ 699 I ¢ I 6RNY 2T AGITE
2I1g?

A) anG .G
B) cadan
C) &g

D) igsaa

80) The size of a typical cell is usually measured in which
of the following units?

A) Poise

B) Numbers
C) Microns
D) Stokes
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B W AMEN senr R s EAERAAE 1 A Eiden

80) @ ARIGE 6R1FQ ARIQ FAAKIQ ARINEGS 609 NAR6Q
Al KU

A) o]
B) eqa
C) clagq
D) caiqa

81) In paddy fields which of the following microorganisms
usually serves as a biofertilizer?

A) Enteritis Salmonella
B) Salmonella Typhi
C) Blue Green Algae
D) Escherichia coli

81) 2IE 65160 FAAIA 69 RS ARIGSS 65a9 AR QI6S
QIR QAU

A) ¥9QIRTa AmeAIcaRl
B) aimsaisanl Slac

C) q.8% ames

D) weaadal 6aim

82) What is the excess pressure inside a drop of mercury

of radius 3.0 mm? (Given, Surface tension of mercury is
4.65 x 107" N/m)

A) 310 Pa
B) 510 Pa
C) 410 Pa
D) 210 Pa

82) 3.0 mm QIAIE FIY IR U109 IG Go6R 2GES 1T F'E?
(A@, QI0QQ Q124 SIT 6268 4.65 x 10° N/m)

A) 310 Pa
B) 510 Pa
C) 410 Pa
D) 210 Pa

sur s nare

83) An air bubble of radius 102 m is raising up at a steady
rate of 2 x 10° m/s through a liquid of density 1.5 x 103
kg/m?3. The coefficient of viscosity, neglecting the density
of air is(g = 10 m/s?).

A) 285 Sl units
B) 27 Sl units

C) 167 Sl units
D) 377 Sl units

83) 10: §i YIS 369 99 QIg 6T 1.5 x 10 kg/m* QR
Q88 2 x 10-€1/64 8 21063 299g K0T 1 Q199 AFSI (g =
10 m/s))q QIQ 699 AFSIR YEIe 629

A) 2854Q2IR 259
B) 27 wqam 959

C) 167 9@ 9&Q
D) 377 9Q@I@ @RS

84) Match the following components of a cell in List - with

their corresponding approximate percentage of the total
cellular mass in List-II.

List-1 List-ll
(3) Water fi) 3%
(o] Proteins fii) 5%

(c| Carbohydrates {(i] 70-90%

() Nucleic acids (iv) 10-15%

A) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)
B) (@)-(ii), (b)-(), (c)-(iv), (d)-(iii)
C) (a)-(iv), (b)-(iii),(c)-(i), (d)-(ii)
D) (a)-(iii), (b)-(iv), (€)-(i), (d)-(ii)

Techofworld.In
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84) G76a QIR -| 62 &A1 9 QI8 RAURIGGEF TR 6

QI 67110 6918 BEHA CIAULIA gEEIO ATG 671G ARG |

@%l @all
(a) 8I9a (i) 3%

(b) 6QI5a (ii) 5-7%
(c)696QIQ (iii) 70-90%
(d) Q4QRQ 198 |(iv) 10-15%

A) (a)-(iii), (b)-(ii). (c)-(v). (d)-()
B) (@)-(ii). (b)-(0). (c)-(iv). (d)-(iii)
C) (a)-(iv). (b)-(iii).(c)-(0). (d)-(i)
D) (a)-(iii), (b)-(iv). (c)-(i), (d)-(ii)

85) Plants that are adapted to extreme dry conditions
throughout the year are usually known as

A
B
C
D

Xerophytes
Epiphytes
Halophytes
Hydrophytes

— - Nr

85) 609 QBRgEa ORI 49 2egia od ARl §eq 299
ARG, 6AYEG ARIQSISE DSl QRIN?

A) 6R6UTIRG
B) wdoes
C) glemIcTriag
D) eiaegicrias

86) The arrangement of flowers on the floral axis of a plant
is known as

A) Venation

B) Efflorescence

)
)
C) Inflorescence
D) Aestivation

Techofworld . In

86) Y@ EQQ 601 2IFUEE TN QIR @4 QRIAN?

A) 6R659%

B) sgjea6aq
C) aaegieasaq
D) w8ewae

87) What is the mole ratio of hydrogen and oxygen gases
liberated during electrolysis of water?

A)4:1
B) 1:3
g2
DD

87) 97Q QEN6, IMAC (T46 2U96R) @ASI ANAEQ QIR Q!
QUFI 6 AR 671N AQAIS 69657

R 4:1
B) 1:3
C)21
D)1:2

88) The latent heat of vaporisation of a substance is
always

A) less than its latent heat of fusion

B) greater than its latent heat of sublimation
C) greater than its latent heat of fusion

D) equal to its latent heat of sublimation

88) 4@ CIga QIFIRAIQ QY ST AQ AAIAEA

A) 9210 9O 99 ST 0Ig @6
B) GesRIeR 99 Q19 0IQ 2%
C) w216 96 94 91 01 2@
D) Qe8RIGa 99 91 Qg ARIe
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89) Escherichia coli bacteria is commonly found in which
of the following organs of a human body?

A) Brain
B) Kidney
C) Intestine
D) Heart

89) 162A52 6a1R QUIERAR I AIRY SA1NR FOIUQ 6aE
AFEQ ARIIQEISS F@elg?

90) A spring gun of spring constant 90 N/cm is
compressed 12 cm by a ball mass 16 g. If the trigger is
pulled the velocity of the ball is

A) 60 m/s
B) 90 m/s
C)50 m/s
D) 40 m/s

90) 90 N/cm @a 9 QI 9@ Jef 9Iae 16 gl 99 68 9@

A 9l 12,6971 9500 @AIgRll 9& IR SEILN 6069 AR
A°6Q0 6208

A) 60 m/s
) 90 m/s
)
)

vs)

C) 50 m/s

40 m/s

O
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Question Paper No: 53686 125
Answer Key
1. D 31D 61.B
2. A 32.A 62.A
3. B 33.A 63.D
4. B 34.C 64.B
5. A 35.C 65D
6. C 36.D 66.C
7. D 37.D 6].B
8. C 38.D 68.D
9. A 39.C 69.D
10, A 40.B 70.C
11.C 41.B 71.C
12.C 42.C 72.B
13.B 43.D 73.D
14.D 44.B 74. A
15.B 45.D 75.D
16.D 46. A 76.B
17.C 47.D 77.B
18.C 48.B 78.D
19.C 49.D 79. A
20. C 50.C 80.C
21.D 51.B 81,C
22. A 52.B 82.%
23.D 53.A 83.C
24.D 54.C 84.D
25. C 55. BaS83GA
2642 568B¢ 86, C
gD ST. Ged¥. C
28.C 58.D 88.C
29.C S¥'D 89.C
30.B 60.B 90.B
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